%William Owens
%June 25, 2009
%ECE 301
%Problem 1.4
del = 0.00001;
speed = 2; %speed of the song
HN = 0:del:.5*speed; % Half Note
QN = 0:del:.25*speed; %Quater Note
EN = 0:del:.125*speed; %Eighth Note
SN = 0:del:.0625*speed; %sixteenth Note
DEN = 0:del:.125*speed*1.5; %Dotted Eighth Note
DSN = 0:del:.0625*speed*1.5; %Dotted Sixteenth Note
R = 100000000;
y = sin(2*pi*330*SN);
sound(y, 1/del);
y = sin(2*pi*330*EN);
sound(y, 1/del);
y = sin(2*pi*330*SN);
sound(y, 1/del);
y = sin(2*pi*R*SN);
sound(y, 1/del);
y = sin(2*pi*264*SN);
sound(y, 1/del);
y = sin(2*pi*330*EN);
sound(y, 1/del);
y = sin(2*pi*396*QN);
sound(y, 1/del);
y = sin(2*pi*R*QN);
sound(y, 1/del);
y = sin(2*pi*264*DEN);
sound(y, 1/del);
y = sin(2*pi*198*SN);
sound(y, 1/del);
y = sin(2*pi*165*EN);
sound(y, 1/del);
y = sin(2*pi*220*EN);
sound(y, 1/del);
y = sin(2*pi*R*SN);
sound(y, 1/del);
y = sin(2*pi*247.5*EN);
sound(y, 1/del);
y = sin(2*pi*233.75*SN);
sound(y, 1/del);
y = sin(2*pi*220*SN);
sound(y, 1/del);
